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About the covariance and correlation of two variables X and Y, which of the following is correct?
A.Cov(aX + b,cY + d) = ac - Cov(X,Y) + bd, for constants a, b, ¢c and d

B. We always have: —1 < Corr(X,Y) < 1

C.Cov(X,Y) = Cov(Y,X)

Var(X+Y)

D. Corr(X,Y) = s on s

—IAY 900 B A YA ERAT, BREAAFESEGFM T 400, MBEES L0 54,
#.4% Chebyshev R % X, LA F 4 & E7&?

A, ED 400 B A B RAE R 3-5 /N A AL B4 5k

B. £ % 100 2% & B X4 Fl AL BE 435 AR 38 6 NEF K, 2D 0 2 B

C. Chebyshev R & Kz % # B A ¥ L&

D. A b ¥R EFRE

The correlation of returns between two stocks X and Y is 0.40, and the covariance is 0.0064. If the
return from stock X has standard deviation 32%, what is the variance of return from stock Y?

A. 0.0029

B. 0.0025

C. 0.0500

D. 0.0322

Which of the following distributions is always uni-modal (¥4%) and skew to the right (#1&)?

A. Normal Distribution
B. Gamma Distribution
C. Student’s t Distribution

D. Lognormal Distribution
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B 47 | 0.46 I 0.40
B 0.30
g 0.30
xR 0.22 IHE 0.25
e fe 0.45
i 0.30
P 0.32 e 0.35
Rl 0.30
x4 0.35
5. HMEEFAARBRERARM OB EHE?
A.0.670
B. 0.099
C. 0.450
D. 0.489

6. HFEREMEILFHEHHKE?
A.0.350
B. 0.430
C.0.340
D. 0.333

7. HREE B, FRERE RSO kE?
0.112
0.319
0.333
0.157

>

oo w

8. MR —MBHEFHITERE LS 0.625, £—FH L FH 4 6 R EFGITE, FHERITERN
G, FHFEGILRREFRITH A E AR R £ BT
A. BRAEAE =3.75, 4% £ = 1.406
B. #9414 =0.37542%& £ =0.119
C. #Af5E =375, 12 % % =1.186
D. #4514 =2.50, 2% % =0.968
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9. About financial returns such as daily stock returns, which of the following is correct?

10.

11.

12.

13.

A. Daily stock returns usually have kurtosis value equal or close to 3.
B. It is easy to see that financial returns have normal distribution.
C. The Jarque-Bera test statistic for financial returns has very large values.

D. None of the above

Bk — X RM 36 35 B P, £ET I R=IR, L0 BERE(FE) 55 REuyE
BE R A20, IEERFZHRGESG ZRB OSNERER A7

A. (9.271, 9.729)

B. (8.128, 10.872)

C. (8.349, 10.652)

D. (9.308, 9.692)

Which of the following is NOT a correct description for the properties of an estimator?

A. An unbiased estimator has an expected value equal to the parameter it tries to estimate

B. The sample variance is an unbiased estimator of population variance

C. The sample variance is a consistent estimator of population variance

D. An unbiased estimator is also efficient if it has a variance smaller than any other unbiased

estimators

BAW t 4B, AT AT Esk?

A FBBEMK, t 5L EENE

B. fA& % & o, t A ELEH BE

C. #BHE >3/ <4, Al t pEYEBGERFLE
D. 2L b % EsE

Which of the following is the most appropriate to use a ¢ statistic in constructing confidence interval
for population mean?

A. Sample size < 30, the population is normal with unknown population variance

B. Sample size > 30, the population is normal with known population variance

C. Sample size > 30, the population is not normal with known population variance
D.

Sample size < 30, the population is not normal with unknown population variance
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® HHUTEMNDL 14-16 5
HBTHEEINSMEPETETHRZT NI, R A LM EFEE I 50 E T, LBHKRA 100 4
BP%, thBRL— AT RARENEA LB THA48E 80001, ZHEHIZE £ T4 B 38,600
7, WHEEAUTF A
14. sb3B R 78R, HE&BRA:

A u<50%

B. u<s0%m

C. u>50% 7t

D. u=50%t

15. sbE B P73t B e st & HAE A

A. 232
B. -3.11
C. -1.86
D. -2.04

16. 42 5% BEZE /KR T, L IEfE &% T
A BIFERREBBEUSS0ET
B. B8R E 8BHU=50F T
C. kB ERBFZ U250 T
D. 58 E SBHEL<50%T

17. In the t test for the differences between the means of two populations, if the t statistic is given by

%% (n1—1)s%+(n,—1)s2
t = 1 21/2 and Sp — 1 2 2
SZ 52 n1+n2—2
i A
ni nz)

where X; and X, are sample means from two independent samples, then which of the following is NOT
correct?
A. We can not assume the two population variances are equal
. We can assume the two population variances are equal

B
C. The pooled variance 5,3 is a weighted average of sample variances s? and s2
D

. The degree of freedom is (n, +n, — 2)
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18. £ EQMEEmE Y, ZRFARFLRER () =Db FBp— KP4 bl 8 E (X,Y) 2 R &9 Bl
B, RIVTFATA B b 2 ik %487

A AM(Y), Y#E6-FHH

B. Var(Y), Y4 a9 4% B #

C. Median(Y), Y% &2 ¥ fr#t

D. Max(Y), Y% &2 & k{4

19. Which of the following has a meaning different from the other three?
A. Matrix A is non-singular
B. Matrix A has an inverse
C. The determinant of matrix A exists

D. Matrix A is a mXn matrix

20 ATFATER B A=A E R R

A. SETR A B PT R B Ak

B. 4B A &9 F7H M A St AR 1R

C. AR EER

D. #sbF7 K44 Ax=y ZMT LB x 28 B x=A4""y

21. Which of the following will cause a multiple regression to have no solution, that is, we cannot find the
p estimate of the regression?
A. Serial-correlation in the residuals
B. Heteroskedastic residuals
C. Multicollinearity in the regressor

D. All of the above

22. LATF AT A By R Y R A ?
A # 100 Rl BBRAK — R 5 B HHRATEE, LBAYMEEH4 (panel regression)
B. ft —Fxa| BB E T F 2B L TR RATEE, AN A EE (time-series regression)
C. # 100 R a) BB EK T F 2B L TMEATEEF A, hAE AR EEE ) (cross-

sectional regression)

D. s L% & ExE
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A. B is an unbiased estimator of the true parameter f§
B. E[f]=p
C. Var(ﬁ) goes to zero as sample size increases

D. All of the above

® FHTRNEHFELERTZE24-29%

23. About the statistical properties of § from simple linear regression, which of the following is correct?

R ey 0.1562
R 77 (24)
FEWY R FH 0.0205
12 R (25)
BEEEEK 252
ANOVA
AdE  SS MS F P-1&
i85 (26) 02371 (27) 6.2488 (29)
7% % (26)  9.4848 (27)
4 v (26) 9.7219
(EE 4 3% t 4zt P-{&
#.38 0.1538  0.0124 12.4265 6.3E-28
X g% 1 -0.6959 02784 (28) 0.0131
24, LU AT A K E R? #y77 k0
A BBEEBOHRAGEY
B. &5 X 81 Y 894K 48R4
C. # X iz £ e948 0 43
D. R? = (TSS — SSE)/SSE
25. LA AT 3 By 3R B R
A EABERNGEEFIEORBRERGZEE
B. &34 4% 3% = /9.7219/252
C. RMiEiEeh4% 3% = ,/9.4848/250
D. oA bR R 4t
REFHELHE FUETBATAA
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26. R R P Z A8 E G R E AR R A
A. (250,1,251)
B. (2,250, 252)
C. (1,250, 251)
D. (250,2,252)

27. SbE £ A& F A8 G IE AL G AR B

A. (0.2371, 0.0379)
B. (0.2371, 0.0376)
C. (0.1185,0.0379)
D. A L% RiEzE

288 [ =0 BAT L AT, W4T E t-statistic 2 P& 4
A. 5% vy KE B BRE, 4 t-statistic & E$ B K72
B. £ 5% ey KERRRZE, BB p-value=0.0131 % 5%
C. t-statistic 2 {H % 7 -0.6959 Fr 1A HAZ #22 (0.2784
D. A L% A iEsE

29. st £ A& F #x 2 4y p-value ¥ LA T {7548 %7
A, B AESHE 694% 3% 0.2784
B. [ f&3114 84 t-statistic
C. B #3148 p-value 0.0131
D. A LB RA8%E

30. In deriving the variance of f§ from simple linear regression, which two assumptions about the residuals
u; are needed?
A. Elus] = 0 and Var(u,) is a constant for all ¢
B. E[u¢] = 0 and Corr(us,u,) =0 fors # t
C. Var(u,) is a constant for all t and Corr(ug,u,) = 0 for s # t
D.

Var(u,) is a constant for all ¢t and Corr(ug,u,) # 0 for s # t
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